
45. a) chn-jvIp-am¿

46. b) kndnbIv tPmk^v

47. d) KpP-dmØv

48. c) Fw. apIp-µ≥

49. c) sIm¬°Ø

50. a) 2019 HmKÃv 1

51. a) was (along  with  hmI-y-Øn¬ h∂m¬ BZ-ysØ subject

          A\p-k-cn®v verb)

52. c) of

53. a) benign  (malignant x benign)

54.  b) have  (police \v tijw plural verb D]-tbm-Kn-°-Ww)

55.  b) faster (than D≈-Xn-\m¬ comparative  degree AXn-\m¬  faster

        D]-tbm-Kn-°p-∂p)

56. b) lion - lioness (lion - lioness F∂Xv masculine feminine  gender

                     Dw a‰p-≈h singular plural BWv)

57. c) to escape from poverty

58. c) a  ( European, D®m-cWw bqtdm-]-y≥)

59. b) haven’t we (sentence positive AXp-sIm≠v tag negative )

60. b) stops  ( t\csØ Xocp-am-\n® `mhn-bnse Hcp Imcyw ]d-bptºmƒ

   v1 form D]-tbm-Kn-°p-∂p. ChnsS  it h∂-Xp-sIm≠v singular verb)

61. c) little (little (H´p-an√ ) negative meaning \¬Ip-∂p. Uncountable

                    noun s‚ IqsS D]-tbm-Kn-°p-∂p.)

62. c) generous

63. c) balled  (Htc ku≠n¬ D®-cn-°p-∂Xpw hy-X-ykvX A¿∞-ap-≈-Xp-

            amb hm°p-I-fmWv -Homonyms)

64. d) sheep

65. c) gander

66. a) to accept

67. a) unforgettable

68. a) will come (Model verb - can, could, may, might, shall,

                 should, will, would,must)

69. d) He said that he had done his homework

70. a) Entrepreneur (Entrepreneur - kwcw-`-I≥)

71. c) Npcp-°pI

72. a) Iq]-Ønse aWvUqIw

73. b) BI-kvanI Ah-[n

74. c) ]£-hmXw

75. c) hm‹n

76. d) ⁄m\w ˛ hn⁄m\w

77. b) Hm´w

78. a) sImSp-ß-√p¿ Ip™nIp´≥ Xºp-cm≥

79. d) Fgp-Xp∂p

80. b) C.hn cma-Ir-jvW≥

ANSWER KEY
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1. b) _k-hÆ

2. b) sIm¬°Ø

3. c) t{]w_n-lmcn \sscbv≥ ssdk-vZ

4. d) sU]-yq´n kv]o°¿

5. a) {Xn]pc

6. d) tPym-Xn-dmhp ^pse

7. a) tXmakv tPm¨kv  _m¿°¿

8. c) Nºmc≥

9. b) 1921

10. a) A¬-taU

11. d) 292

12. c) Xpfph

13. d) _m_¿

14. b) tKmZm-hcn

15. b) \Nn-tIXv tam¿ IΩn-j≥

16. c) IÆq¿

17. a) B\-°c

18. c) ]≥a\

19. d) hmKv̀ -Sm-\-µ≥

20. d) tPymXn sh¶n-Sm-New

21. b) sIm√w

22. a) Iehq¿

23. c) 1961

24. d) F°¬aÆv

25. b) 1946

26. b) s\bvX¬

27. a) Im¿Øn-I-Xn-cp-\mƒ cma-h¿Ω

28. d) s]tUm-fPn

29. c) G{]n¬ 23

30. b) sXt° Ata-cn°

31. a) cq]m¿

32. d) Xmbvhm≥

33. c) _nkvam¿°v

34. d) bqdm-\kv

35. c) K

36. a) Idp∏v

37. a) dtUm¨

38. b) Xpcniv

39. d) \yq-¢n-b¿ ^nj≥

40. a) hb-e‰v

41. a) ssXtdmbvUv {KŸn

42. c) kn¶v

43. b) 6

44. b) ]mcnkv



81.   c) 3/4

                       (x - 1/2) 1/2   =  1/8

                                x - 1/2  =  1/8 x 2

                                        x   =  1/4 + 1/2   = 3/4

82.   b) 8 cm

                    Np‰-fhv   = 2(l+b) = 26                  l = 3+b

                                 2(3+b+b) = 26

                                       3+2b = 13

                                           2b = 10

                                            b  =  5

                                             l = 3+b

                                               = 3+5 = 8cm

83.   a) 150

                  x x 
31 

  =  46.5
                       100

                          x  =  
46.5 x100

                                      31
              

 =150

84  c) 768

             3,        12,      24,      96,      192 ,  ______

                x4          x2        x4        x2        x4

( ( ( ( (

85. b) 1) 1) 1) 1) 1

             =   (xa+b)
a-b

x (x b+c)
b-c

x (xc+a)
c-a

             =  x (a+b) (a-b)
 x x (b+a) b-c)

 x x (c+a)(c-a)

             =  x a2-b2 
x xb2-c2 

x x c2-a2

    = x 
a2-b2+ b2- c2+c2 -a2

         

= x   = x0    = 1

GXM -6, Maths Expalnation

86.   a) 25%

    R
100

   
 =

 20 x100 = 25%

           100-R
     

        80( (

87.   c) 93 cq] 50 ss]k

em`w = 85 x 
 10

                             100

                     = 8.5

            85 + 8.5 = 93.5

90.  b)125125125125125

     ]eni \nc°v =        hy-X-ymkw            
x100

                       km[m-cW ]en-i-bpsS ]IpXn

      =  5  x100
25         

= 20%

                             I = PNR

                  50 = P x 2 x 20
                          100

                   P = 125

92.  a) CEFH

   a‰p-≈-h-bn¬ Hmtcm A£-c-ß-fpsS
    hy-Xymkw D≠v.

93.  c) 14

    453 = 4 x 5 + 3 = 23

              738 = 7 x 3 + 8 = 29

              527 = 5 x 2 + 7 = 17

              246 = 2 x 4 + 6 = 14

88.   d) 9

    3x +8 : 2x+3 = 5:3

                   (2x + 3)5 = (3x+8 )3

                     10x +15 = 9x+24

                              x  = 24 -15

                                  = 9

89.   b) 99936

      Lcm (12,24,36)   =  72

                 99999
, injvSw  =  63

                   72

                   kwJy  =  99999 - 63

                                          =  99936

G‰hpw henb 5

A°-kw-Jy = 99999

91.  a) 1 aWn-°q¿ 1 aWn-°q¿ 1 aWn-°q¿ 1 aWn-°q¿ 1 aWn-°q¿

             Zqcw = kabw x thKX

             = 15 x40 = 10In.ao
                     60

XncnsI hcm≥
 FSpØ kabw = 10/10 = 1 aWn-°q¿

94.  c) 50 km

                402 + 302 = 502

                    Zqcw = 50 km

--
--

--
--

--
--

-

10km

40km 40km

10km30km



96.   d) 12:20

    23 : 60 -

     11: 40

              12 : 20

97.    b) 7) 7) 7) 7) 7

      t2 = 10      t4 = 16

                      a+d = 10

                  a + 3d = 16

                        2d = 6

                         d = 3

               a = 10-d

                     10-3 = 7

98.   b) 3 days

      m
1
 D

1
 = m

2
  D

2

                  1x12 = 4 D
2

                     
D

2
 =

 12x1 
= 3

                               4

99.   b) 35 an\n´v) 35 an\n´v) 35 an\n´v) 35 an\n´v) 35 an\n´v

      3/5 `mKw \nd-bm≥ = 21 an\n´v

           apgp-h≥ \nd-bm≥
         th≠ kabw = 21 x5/3 = 35 an\n´v

95.  d) 4% IqSp∂p 4% IqSp∂p 4% IqSp∂p 4% IqSp∂p 4% IqSp∂p

                    am‰w =  x +y+
 xy

                                   100

                          = 30-- -˛ 20- ˛ 20 x30
100

                          = 10- ˛ 6 = 4% IqSp∂p
         4 t]mkn-‰ohv Bb-Xp-sIm≠v IqSp-∂p.

x = 30

y = -20

100.   b) 1

              3 -2 =  3
1/2 =

 1 , 
(-3)2 = 9

                                9

                     3-2 x (-3)2 = 
1 x 9

                                       9         
  

= 1


